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Last twine Today next time
-

-
-

. Recap & finish . Logic & . Finish Logie

two 's comp .
Boolean ' Combinatorics

' Logic gates
Algebra

Announcements
-

. HWI Due tonight - Grades cope

- late HW not accepted
,

because . . .

. HWI solutions posted need

' HWL now available on website

' If  you have DRC accommodations
, please let us know

. Recitation quiz I  D nextweek
-

circuits & conversions
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Exempt DNF :
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Formal Logie
-

: tf - then →
' implications

if - and - only - if

① Implies : A  ⇒ B " A implies B
"

A :
" hot outside

"

B :
"

not many people outside
"

implication : A  ⇒ B
" if hot outside

,
then not  many

people outside "

Converse i B ⇒ A a if not many people outside
,

then

hot outside "

A converse not necessarily true

Contrapositive : TB ⇒ 7A
" if many people outside

,

then not hot outside "

* implication and its contrapositive are logically equivalent



Implication chain together

A  ⇒ B
,

B⇒c ⇒ A ⇒ c

→
-

-

p T traffic atleast T
Fri 45mi Roget

fr ; traffic is 45 mins aft . home
afternoon bad bad to get

home



First - order Logic g
if and only if

-

① Consider :

"

any object D a square it it  is a

rectangle with equaltenth sides
"

P ⇐ Q P =
a

any object a a square
"

I what does that mean ?

A- need variables and

Predicates

Square C a ) ⇐ Rectangle Ex) A Equal sides ( x )

federate tuariabk



⑨ Quantifiers F  =

"
there exists

"

f  =
" for all

"

additive
inheres

always
- exist
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